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SHEK R R Ae Aw Ap
INPUT MIN 36[VAC INPUT MAX 72[VAC EE13 17.1 22.2 0.04
OUTPUT 1 12|vDC Io 1|A EE16 19.6 33.1 0.06
Po 12| EE19 22.7 36.4 0.08
OUTPUT 2 0|vDC Io 0[A EF20 41.0 30.7 0.13
Po 0w EE22 37.0 31.5 0.12
OUTPUT 3 0|vDC Io 0[A EE25 40.7 60.7 0.25
Po 0w FR28 82.1 71.8 0.59
NVee 12|vDC Io 0.01[A RM10 98.0 45.7 0.45
Po 0. 12[w Dmax=| 0.49 E133 119.0 88.8 1.06
TAEMEEs 100|KHz KiFDmax=|  0.49 PQ2020 62.0 23.4 0.15
N H Al 180|uF INGUE R 12.02 |V PQ2625 119. 0 47.7 0.57
o H A 470|uF MIN|OUTS) H & 66 |mV |fEiSMS EFD20 Ae=  26.7
WL SKCORE  (J: % %5 A /cm2 (3007500) , Ku: %541 2 %500.270.5) 377 Ku= 0.3
AP=AW*Ae=(Pt*100000) / (2 A Bxfs*J*Ku) = 0. 06 cm4
L6 T#%Pt = Po /n +Po = 27.27 W
AB = 0.195 T KFBs = 0.212 T
IR {HE RSB T0B ( DCM / CCM BOUNDARY, Iifs F-#=XHL 60~ 80%. A )
IoB = 0.8 * lo = 0.8 A
IRS KRIBECELN = [VIN(min) / (Vo + Vf)] * [Dmax / (1-Dmax) ]
VIN (min) = 37.36 V Velamp= 79 V
M EEN= 2. 94 * 0.96 = 2.83
R4 SKRCCM / DCMIE F4IR R8s e {F Ja It A ISB.
Alsb = 2Iob / (1-Dmax) = 3.14 A
A ) AHEIREER R Ls MU TR Lp.
Ls =(Vo + Vf) (1-Dmax) * Ts / Alsb= 20.65 uH
Lp = n2 Ls= B IEfE—~ 0.18 mH  JWELlk < 9 uH
L IR6 SR COMIRF I 38 VAR FR UL A Tsp. CCMIRF J5U I ¥t A Tpp
ATsp = Io(max)/(1-Dmax)+(AISB/2) = 3.53 A
ATpp= AlIsp/N = A
SIRT PR B R Al “ge
A RNp L t= 1 *  0.33
TR PNs 2 15= 2 x 0.40
TR IR ENs 24645 = 1 0. 00
IRS EENps Ns, (EfAREWvVa = (Vo + VE) / Ns) 1& 1F el &
I>Np Np =Lp * Alpp / (ABx Ae)— 39.55 40 T
2>Ns Ns =Np / n = 14. 00 14 T
3) Nvee = (Vee + VF) / Va = 13. 55 14 T
4) Ns2 = (Vec + VE) / Va = 0.77 1 T
A IR9 KT H e
B WA M Do = 4 A RIFJHE > 50 V
TP R e £ Vceo= 200 V Tec= 3 A
RCDFFAT LR 5E: Re < 48 KQ Cc > 2081 PF
Pl I8 b BELA 5 = Rs = 0.64 Q T Lo 15 uH
JLREE I A8 5E  LinAC= 1.83 mH  XHLEME= 0.17 uF
R H BELAf o - Rvce= 18164 © Rgnd 4780 Q




